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B. Sc. Second Year Examination, 2012
CHEMISTRY-VI Physical Chemistry
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What are liquid crystals ? How are they classified ? Discuss the structure of Chloestric liquid Crystals.
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F1? Define single electrode potential. Derive Nerst equation for it and discuss the effect of electrolytic
concentration on electrode rotential. How will you establish the sign of electrode potential ?
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What is Kohlrausch Law ? Discuss its various applications.
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b T B % ™ for Joule-Thomson coeff‘?ze:t3 ;
Rl YA = ) What is Joule-Thomson effect ? Derive an expression 10 ;
Show that for an ideal gas the effect is zero. : * ‘
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Derive Braggs equation for the diffraction of X-ray by crystals. Describe rotating crystal m sed
for d’e’temﬁn‘ing internal structure of crystals,
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w1 5 ?1 What is cyclic

process ? Describe carnot cycle for establishing-the maximum
convertibility of heat into work, ‘

Heat supplied to 3 Camot engine is1897.86KJ. How much useful work can be done by the engine which
works between 0°C and 100°C?
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Define ionic product of water. How it is determined 9 N
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Write a short note on corrosion.
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What is solubility product ? Discuss its applications.
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